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pIKOOR ACADEMY [q

[ A boy has 29 shirts. He donates 15 shirts. How many shirts
is he left with?

Solution: 29 - 15 - 14

(d There are 48 basket balls and 92 tennis balls. How many
more tennis balls are there than basket balls?
Solution: - =

O From a cookies jar of 82 cookies, 24 were taken. How many

cookies are left in the jar?
Solution: -

 Out of 96 students in school, 50 are boys. How many girls

are there in school?
Solution:

O In a balloon bunch of 56, 23 balloons got burst. How many

balloons are left?
Solution:

\
01 www.kooracademy.com L]



	Default Section
	Slide 1


